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Transform the following sentences
without changing the meaning, by using
too0.

1. She is so simple that she will be easily
cheated.

2 The two girl friends are so close that
they cannot be separated

3 The task was so difficult that they could
not finish it.

4. The natural scenery of Rajgir is so
beautiful that it attracts all.

5 The sun is so hot that we cannot go out.
6. My father is so good hearted that he
cannot harm others.

/ The central government is so unstable
that it cannot do any work.

8 My younger brother is so slow that he
does not do any thing in time.

O. The burden is so heavy that | cannot
carry it.

10 He is so proud that he will not beg for
mercy.



